An elevator at a construction site moves upward with a velocity of v = 6 ft/s.  At the instant shown, the floor of the elevator is at a height of y = 120 ft above the ground when a pebble is dislodged from the floor.  Find the position of the floor of the elevator when the pebble strikes the ground
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Solution:

1. Write the kinematics equation governing the motion of the pebble:
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        ________________________

2. Solve for the time it takes the pebble to reach the ground:
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        _________________________

3. Write the kinematics expression for the height of the elevator floor at this time and solve:
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